Pre-Laboratory Questions

<
¢
1. What is the mole and molar mass? What are the molar masses of h
magnesium and atomic oxygen?

Mg = 24, 3\

~ Mo
2. When 0.192 gP of phosphorus is burned, 0.341°g"?>f a white oxide is
obtained. (a) Write a balanced chemical equation for the reaction of

phosphorus with molecular oxygen based on this empirical formula. (b)
Determine the empirical formula of the oxide.
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Results and Calculations

Mass of empty crucible (after first heating) g
LS

Mass of empty crucible (after second heating) g
S

Final mass of empty crucible 20, FY xaolg

Mass of crucible and Mg 20,94 g
Mass of Mg 0.20 g

Moles of Mg (n1) 8.2 no? mol

Final mass of crucible and Mg-oxide 21.03% g

Mass of Mg-oxide produced ) o. 34 g

C'NSZH'-,\_,_..,;,.‘ = c'm-h\‘.“q*’
Mass of oxygen gained oty g
™30 .y D -
Moles of oxygen atoms (n2) 3-35 w0 > mol
o
Formula of magnesium oxide (MgniO,o) M9 O gaoxs
E[“ﬂ(lg‘_a‘l._fgrmula of magnesium oxide m30
ass percen‘g\g)i: Mg in the oxide (x) (Wntally) 3.2 %

_M@.— = =

Mass percent of Mg in the oxide (x;) (calqulated for k .

Mgo) e o *

Percentage error = [|X2-%1 | /%2] X 100% 2.u3 %

A5 o4
éo.3 - \
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QUESTIONS™® ®
1. If water had not been added to

determined percentage of magne
part of the product has been magn

your initial product, what error in g,
sium would have resulted (that is, ;
esium nitride)? Explain.
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@ If large amount of magnesium oxide had been lost during the heating
of the crucible, would this have made the calculated %Mg in the
product too high or too low? Explain.
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